| % 2 %

£ 2 %

=0.567

2400 T=52.185 E

R=

=0.994

3600 T=84.606 E

R=

0££°68¢

(TL9°6VL+0M

¥90°€6¢

(YAAAY A4V

3000 T=60.003 E=0.6

R=

2£9°L8C

(98G°C61+0M

\

R 3k

e
i
E
<
-ng 3 m m m
3 4K R|” 0
oy e
L
BOLI2E e
T o S| e =
el g - [N NE R
H/R e |2k 82 °
. ; RO ™ : . . ;
60 T T 798¢ | SV 88 [L0v0-| S 1e6ToN
P | T
N i
- I T
T I I
R__ ___
Tt 696282 | 966282 |650°0—|  006+0M
I I
I f
I I
m \.vm_ m___ m
o . . . "
S 5 %) “_ ! ~ | 60982 | 9.8z 19610 088+0
8 o I I -
- T
= I I
= I I . . .
W ___ ___ 657287 | z0cL8T |¢v00-|  098+0M
[
S ,\_ l| =
peid I I =
S [ [
T Y[E ° l [
< 13N ! | . . .
&= 0 I [l 16987 | 206987 | 8000 0¥8+0)
2| fi Il
2= I I
TAVAR i
i ; 9598z | 25¢°98Z | 8020 028+0)
it :_
i Hi
ozl
 —l
 S57a \.__“_ _____ | | eose | sessez | gi90 008+0)
I [l 0
i 1 —
| &
[ [l
£ I 1 96's8¢ | 809682 | zze0 08/+0)
~ £
NEE: I I
S| v il il
B3x8 i I
~1 I 1
ET T
S . . . N
s 2lm e ZResd I 9/8'587 | 809687 | 892°0 09/+0X
S REEE I I
S A 2d | s
S o] 168587 | 808'G8Z | 680°0 | Z,9'6¥L+0N
S I Smi_i.
I I
I 1 856's87 | 621982 |1L10-|  OvL+OM
I I
1 I
I I
AR,
i i L02982 | ze98z |ciio-|  ozL+oM
I I
I I
I I
I I
! ! ¢z9'987 | 66982 |9sc0-|  ooL+0M
I I
I I
TR
I I se| | 201282 | z8c8T | vT0- 089+0)
I I <
I I
0
Fowge (Il 299187 | Le6'187 |S9z0-|  099+0M
I I
-
I Il
Il
: &l 781'88 | L2L'88T |S¥GO0—|  O¥9+0M
i g
I Il Zl&
{ I i
: : 20,882 | Sos'68z |c090-|  0zo+oM
I |
Il It
-
_ _
I I zeeess | Lvs68z |szeo-|  009+0M
5 I |
¥ ”_ _“
_ _
(R
1l Il
i i 2hL687 | 860067 |9550-|  08G+OM
I Il
o i i
S | I
2 gl
T on I 292067 | 15067 |60c0-|  09G+0M
I |
I 1
I Il
I I
: : 28L067 | sc6°067 |1si0-|  ovG+OM
I} 1 —
[ I <
] I >
I 1 o . . .
I 1 297167 | sve'i6z |¢800-|  ozG+oM
| |
o
I [l
(R
f p £e9'l62 | 910262 |£850-|  00G+OM
I Il
Iy M
__ _,
N |l
=l
« |88 A 68167 | LzTer |LLs0-|  08p+OM
E Ils S S |l
= Jdl5 o oy
__ w N N
= L 1 Il
T SEE I 1
® =% % i I 7w0'z6z | 0926z |e9c0-|  ogv+oN
ﬁ%uﬂﬂ I I
Op o[ B I I . . . .
S f i L0262 | 616262 | 647 0-| 12z TsrHOM
@ I 9808 L_4_,
0T 71 \.“_ : 6L0°767 | 979262 | 1450~  Ovp+OM
I I
I I
I o |l
[ . . .
4y Sy 900267 | 6¢aZ6C |eec0-|  ozy+od
s |
| =
I I
| |
K] \.: : zegi6z | zozer |86L0-|  oop+oM
5 el 9
3 | | o
f EEL_:_, &
TACAHBRG I 975167 | 99L°162 | ¥z0- 085 +0)
I I
g
(=Nl
{o- S [z1167 | 9cv'L6z |60c0-|  09g+0M
N
£0£°067 | Se6°062 |82z0-|  ove+OM
m’ i
(87067 | 689°06 |zov0-|  Oze+OM
=
#m
%
w i [98'68C | G6C067 [8zv0-|  oogtON N
¥ [T =
= -
= —!|
44 — e
= [
e 1rv68z | 98682 |6Tv0-| oszron R
z i
2| <
| S K=
% I 5e . . . !
2| =| | czo68z | 10568z |#Lv0-|  09z+0M
T a2 A S
Slx= S
D__n
8c9'887 | zL0°682 |#sv0-|  ovz+oM
N
G/5887 | 806882 |¢910-|  ozzHOM i
7R
e
e o
| A B
Mm rT00tel y7'887 | 661882 | 9%0°0 00Z+0)
L = . 257887 | S80'887 | L¥1'0 | 98G°C6L+ON
= = 6T
= < =
"3 . = . . .
- 3 o} 6v2887 | 98L°L87 | £9v°0 081 +0)
+ = -
SIS £ 3 b
g N N N |52
%888 i
w|T T 9888z | 72887 | #95°0 091+0) Als
ﬁ I I T
B
bl = w be
AP W =R Sl
159882 | 80687 | 6¥L'L 0F 1 +0N
= | | | p
) 068z | zv8'L87 | 881’1 021 +0X o
= . 1l
= 99 ¢ =
x 17687 | £91'887 | ¢¥T'1 001+0)
= X
- N
<
5
¥ e 6,687 | z.,'887 | 810°1 080+0
<|=
S
2l& =
Lro6z | L6v'68Z | €190 090+0) =
_ 2 o
= 2
N k)
-+ yars & 65062 | 20062 | 8160 0¥0+0X
;,@ ._u =
.ﬁ
E &
= |5hR
R |z £6'062 | L5906 | €620 020+0)
=& 8|5 9
‘ S
=8 e e
N U 2[R AR
o 116 | zi1'iee | 8610 000+0)
B AP | R
30 o e e B e e e e A
wEkS 8 g3 2 2 8 8 2 £ 8 8 8 8 2 95
IR £ ) M M w m N ~N o~ o~ % % N ~N ~ [aN .ﬂkw 3 I M av
- Al A o> X
= 2| = |F| % |F
pras = = =
=3

1. ABRTERMmiT koidr1: 1000 41 500.

2. AERRERTRILREAL, REN 19065 HERERL.

B M |2021.04

b fl

GF—04
TRt

§

]

haEtk

oERsg) | uskh | k% | % |1 a | Trm [0 v x| s | Adks] wtes | oeco-02 | witha

o4k | MMTROMARRIE IRk | At | %2 [R5 % o | K2 [ B F | v 4| 5 | il | waoe
4| SKELE T HARAEE-

K

XUZHOU MUNICIPAL ENGINEERING DESIGN INSTITUTE CO..LTD

o BB BRERAS




